BN 3l -2 @122

EIEBFARERIE

B AR
y - C em ) -C( 1010L33
! w-") =N o 4
P Y 4 ej  awE | | ERREREE
l.x_.{ ! > : f" l l

s . & BM:EERE S08L18 : M5x0.8p (d4%) +18mm (SB4H E1E)
o 508L26 : M5x0.8p(#8#4%)+26mm (B4R E)
oy ‘i\// N 4 610025 : MEx1.0p(AK)+25mm (B4 &)
% A 810128 : M8x1.0p(#R4%)+28mm (SR4H R )
A § \_}% 810144 : M8x1.0p(484%)+44mm (4844 REE)
‘- 'r-l ’ 1010L33 : M10x1.0p(#84%)+33mm(iR44RE

1010L46:
1210L36:
1415L50:
2015L60:

)
M10x1.0p (824%)+46mm (BR44 R )
M12x1.0p(#84%)+36mm (IR4A R E)
M14x1.5p (424%)+50mm (IB44 R E)
M20x1.5p (824%)+60mm (BR44 R )

2715L642: M27x1.5p(#84%)+64.2mm(IB44 R E)

R~
K
PN
77X
N
<
S
BUSR K L(mm) H(mm) A(mm) S(mm)
BM508L18 M5x0.8p 18 3.0 2.5 6.9
BM508L26 M5x0.8p 26 3.0 2.5 6.9
BM610L25 M6x1.0p 25 4.8 5.7 9.9
BM810L28 M8x1.0p 28 3.0 3.0 10.9
BM810L44 M8x1.0p 44 3.0 3.0 10.9
BM1010L33 M10x1.0p 33 3.0 3.7 13.0
BM1010L46 M10x1.0p 46 3.0 3.7 13.0
BM1210L36 M12x1.0p 36 3.0 3.7 14.0
BM1415L50 M14x1.5p 50 5.9 5.5 19.0
BM2015L60 M20x1.5p 60 13.0 8.0 30.0
BM2715L642 M27x1.5p 64.2 16.0 10.0 41.0
ERARIBRHMER
B BEARELIRR
BM508L18 RTB3,MBX6/8/10
BM508L26 MDX6
BM610L25 STU10
BM810L28 | RTB10,MRU15,FMR10,MDX8/12,5TU16/20,MRX10/15
BM810L44 MDX12(10~30%217%8)
BM1010L33 | RTB20/30,MRU20,FMR16/20,MDX16,5TU25/32,TSB10/16,
TSB20/25%217#2,MRX20/25
BM1010L46 | MDX16%21712
BM1210L36 | FMR25/32 TSB20/25K1T#2
BM1415L50 | RTB50,MRU25,MDX20/25,TSB32/40,TSB50/63%31712
BM2015L60 | RTB70/100,MRU32/40,TSB50/63&1Ti2
BM2715L642 | RTB200/300/500




